F15ETRA—XLEBIET7T—F ') —KK2023KE 2024/1/19
IIE £z 3 % 60m | 50m | 40m | &5t [10+X%| XHE IR EXIEtHh=4 SRR
(DRC_900 (B F)80m X
&I =®E 201 244 251 696 9 2 WEM7—Fz)—Hs FER
7% &M 166 237 236 639 8 2 KRFF7—F ) —ER KB AT
HH HK— 146 147 201 494 3 1 ZREBR7—Fz)—ER =RE
(DRC_900(BF) 70X
1 R ER 248 264 264 776 25 6 ETRHM7—Fz)—HE RIRED
2 TE FRFX 253 241 271 765 22 3 FEM7—F)—HE PN
3 AR B ER 243 256 266 765 20 6 BEEEI —ILL7—Fz)— BER
4 HEH R 250 245 263 758 12 4 NEWLT7—Fz)—HE HHER
5 KiE g 241 244 263 748 14 3 mERMm7—Fz)—1iH= FEE
6 BER BEX 237 239 241 717 13 3 EER7—Fz)—ER EER
7 &R =S 215 234 255 704 8 1 BEHHM7—Fz—HE KHR
8 % 189 244 260 693 16 8 Hgram7T—F)—HE FER
(DRC_ 900 (BF) 60t
1 == Ei 248 271 279 798 29 5 BHE7—F)—BE ZHIE
2 M 5h3X 243 253 270 766 20 5 NEFH7—F)—HE RIRED
3 T & 235 256 264 755 20 5 BET7—Fz)—1BE FRE R
4  mF 1 222 263 269 754 21 2 NEFT7—Fz)—1BE RIRED
5 [HH R 239 248 266 753 20 7 KBRFF7—F ') —ER KB AT
6 /hBE 1 244 246 260 730 15 4 FEER7—F)—1H= RIEE
7 NG p i3 245 243 262 750 14 9 ACHTZ FER
8 FE whEl 226 256 261 743 16 3 HER7—F)—Hs RIRED




(DRC_900 (B F)50i% 4t

1 WIH BT 253 258 273 784 27 12 IHAREBEMRA ST AR
2 x5 Fey 238 261 272 771 22 8 EARTT7—F) 1B PN
3 #FM it 254 253 261 768 19 7 AERFE7—Fz)—&EH KB AT
4 R el 244 256 259 759 25 4 BEE7—Fr)—He HEE
5 4% pirt s 243 249 267 759 15 3 ZRaRM7—F)—H= Iz BB 15
6 &H Btk 219 251 258 728 11 1 BREM7—F)—Hs RIRED
7 /H i 207 246 261 714 16 8 mRERHm7—F)—H=E FER
8 B&E A 235 221 250 706 13 1 EEHm7—F)—HE KR
(DRC_900 (B F)40m X
1 K% 20 273 273 278 824 29 8 B & im ki i it K8
2 E¥ 254 274 272 800 29 9 BREH7—F)—H= 5FR
3 i KA 233 259 261 753 16 2 BHEM7—F)—Hs Iz & 1
4 LuMA =& 240 251 261 752 21 5 RER7—F)—H=E fa [ 2
5 fEIF 3 228 253 268 749 17 2 B/ NIV E HEE
6 IR B 213 221 247 681 17 2 Bwram7—F) e FER
7 KH oz 198 230 237 665 6 2 AKHH7—Fz)—HE RIFE
8 H# e 210 203 243 656 14 4 AFm7—Fr)—HE RIGE
IIE iz 3 % 60m | 50m | 40m | &Et | 10+xX%| X# B EXIEtHh=4 SRR
QRC_900 (& F) 70/t
1 AR HFF 165 228 226 619 7 1 ZRE7—F)—EHR =RE
2 kB RF 151 211 200 562 1 0 ACHT % FER
3 EAR 3F¥ 143 191 214 548 3 0 RUAR7—Fz)—HE RIRED




(@QRC_900 (ZF)60i% L

1 HR EFRK 250 278 277 805 36 6 EER7—Fz)—EH EER
2 hiE nEy 203 236 255 694 8 2 ETRHT7—Fz)—HE RIRED
3 [EH =EF 153 181 211 545 4 1 HEr BdeA FER
4 TR FPAH 145 183 207 535 6 1 BRT7—F—HBE RIRED
QRC_900 (& F)50/% 4t
1 EE ¥ 224 244 264 732 12 3 RUAR7—Fz)—HE RIRED
2 EH Fh0 229 245 248 722 10 2 NEFH7—F)—H= RIRED
3 BxAm = 212 249 259 720 13 1 ETRHM7—Fz)—HE RIRED
4 =EFHE EE 196 219 236 651 4 2 ACHTZ FER
5 RIS FPH 165 202 206 573 4 1 miEm7—F)—Hs FER
QRC_900 (& F)40iF 4t
1 AR HEET 260 273 285 818 37 9 —Bm7—Fz)—1HE BHIE
2 FHM B 209 241 252 702 10 2 AERFE7—Fz)—&EHR KB AT
3 &K R 215 245 231 691 8 4 AERFE7—Fz)—ER KB AT
IE£Z &3 % 60m | 50m | 40m | &EF [10+XE| X% FEEEXIIHEA SRR
CP_900 (B F)80%
1 TR EE 254 263 271 788 51 19 WREXR7—F)—HE RIRED
2 E® = 213 2217 238 678 7 2 REE7—Fz)—1H= a2




@ CP_900 (BF) 70t

1 {EaK =& 274 283 290 847 46 20 KERF7—F ) —&ESR KBRFF
2 S EA 275 279 290 844 44 15 BHRERT7—F)—15E ez B2 I
3 ¥ e 5 272 285 281 838 41 10 hERT7—F)—HE AR
4 RSB IR— 259 277 283 819 35 15 BEH7—F)—HE BFE
5 f&x pSaLzL] 266 270 273 809 23 2 ABRF7—F')—ER KB AT
6 FE =— 247 268 273 788 25 7 BEH7—F)—HE BFE
7 Eil Z7h 232 259 263 754 18 2 BEm7—F)—H= RIRED
8 FREHA BE 243 245 264 752 17 7 TIEHT—F)—HE Iz & 1
@) CP_900 (BF)60% 1t
1 X 4 286 284 292 862 55 17 ZEHT7—F)—HE RIRED
2 Ik it 284 283 293 860 55 17 FEH7—F)—HE RIRHR
3 FH PN 281 282 294 857 55 24 KERFE7—Fz)—ER KB AT
4 F1H JAG o 282 284 290 856 55 17 (B)EFASLEE 5FR
5 B0 DS 2717 286 284 847 44 10 KRF7—F ) —ER KB FF
6 AKX e 266 279 294 839 43 14 ABERFE7—Fz)—&EH KB AT
7 Bf#E 1EF 273 275 285 833 37 12 BEREM7—Fz)—HE PN
8 E B — 259 280 290 829 38 9 BRM7—Fz)—Hms EFR
B)CP_900 (BF)50m% %
1 K 51| 273 282 293 848 49 18 TIEHT—F)—HE GA=RIY
2 (LF FE 273 274 288 835 43 16 KEH7—Fz)—HE ez B2 I
3 AL i3 270 276 289 835 41 13 ZRE7—Fz)—EH =RE
4 EE B 262 280 289 831 36 13 meg7—Fz)—957 fa [ IR
5 E# 1E 252 271 271 794 22 9 RER7—F)—H=E & R
6 ¥ i %00 246 258 259 763 12 1 TUF R AL T RO/ (8) E=T




@ CP_900 (BF)40mft

1 £ RE 276 285 277 838 42 11 FERT7—F)—HE RIRED

2 LA = 267 282 288 837 41 13 NEFH7—F)—HE RIRED

IE£Z &3 £ 60m | 50m | 40m | &EF [10+XE| X% R EX =4 SRR
@CP_900 (% F) 80 ft

1 HHE —iL 246 264 275 785 27 12 BEHT7T—F—HE RIRED
@CP_900 (% F)60m% X

1 1EH HEF 260 280 291 831 42 17 NEFHT7—Fz)—1HS RIRED

2 t2H 5 F 265 277 286 828 36 11 KRFF7—F ) —ER KB AT

3 EH FF 262 277 281 820 31 12 KRFF7—F ) —ER KB AT

4 fEH RF 266 262 2717 805 27 9 KERFE7—Fz)—ER KB AT

5 #MHE EX:1 248 272 283 803 28 8 AERFE7—Fz)—&EHR KB AT
@CP_900 (% F)50m% X

1 KK (iR 251 279 279 809 33 9 =Bhm7—Fz)—HE FHiE R

IIE iz 3 % 60m | 50m | 40m | &Et |10+x%| X¥ B EXIEtHh=4 SRR
B®BB_900 (BF) 70X

1 B 3 170 210 222 602 8 1 KERFE7—Fz)—ER KB AT

2 &M 1 144 176 222 542 7 0 HEHHMT7—F)—H= EHE

3 B JE— 112 191 226 529 6 1 MmEm7—F)—tH= FER

T B i3 150 175 201 526 6 1 ERM7—Fr)—HE EFE
®BB_900 (B F)50m% 1t

1 RE b7 150 191 227 568 3 1 HEHHMT7—F)—H= EHE

2 SRR 75 146 194 209 549 3 0 ZRE7—F)—EHR =RE
®BB_900 (% F) 40t

1 Al ESE 210 254 263 727 11 4 BERET7—F)—HE HEE




JIE {5 53 £ 70m | 70m | &EF | 10+X8| X Rt EXIEHEA SRR
@RC_70M(BEF) 70X
1 kB P 300 299 599 15 5 KBEAR7—Fz— RIRED
2 ®F BER 300 287 587 12 2 WEBE7—Fz)—HE IR
3 & I 285 291 576 9 2 EER7—Fz)—ER EER
4 PE EX 277 256 533 10 4 TO/TLA (¥k) IHEIE
5 WK EIN 194 218 412 3 1 BXEHN—FFT73—KRL—3> #HBE
@RC_70M (B F)60m% X
1 Rk FIA 304 295 599 13 7 B7—Fzl)—ER =RE
2 K1 133 289 301 590 12 1 % M7 —Fz)—Hs =R
3 HiM LR ES 302 278 580 13 4 'Em7—F)—% RIRED
4 =H BFX 268 292 560 9 2 EWMTHT7—F) 1B FHiE R
5 B bl 275 278 553 3 1 HARXRT7—F!)—1% RIRED
6 H=ZEEF A= 262 266 528 5 1 HESFFKR =R
7 LH | Jrd 251 241 492 1 0 ZRE7—F)—EHR =RE
8 R = 234 249 483 8 4 BRAT7—F)—HE RIRED
@RC_70M (8 F)50i% £
1 ME % 318 299 617 18 4 bF—TYOT A=T 1 (}%) FER
2 EAX CAP 305 292 597 11 3 ZRE7—Fz')—EH =RE
3 T©H e 307 286 593 15 7 ZRE7—Fz)—EH =RE
4 AR B 297 293 590 17 3 RBEHFHm7—F)— RIRED
5 AREB B’ 267 283 550 4 3 EAm7—Fz)—H= Iz BB 15
6 HIH & al 260 265 525 3 0 fliE &R =R
7 =B B 238 271 509 6 0 BEHE7—F)—He =R
8 #H g 180 189 369 3 0 EIEXSEER =R




@DRC_70M (B F)40i% 1t

1 HF i 317 311 628 18 5 BT TVY FAR

2 X i 316 309 625 24 10 #gram7—Fz)—HE FER

3 B0 ) 305 304 609 11 2 FTC =R

4  FW —1& 292 301 593 15 5 BEWERET7—FIl— =R

5 K& ol 302 278 580 15 2 =70 A TR

6 FR A 274 269 543 8 4 NEFHT7—Fz)— RIRED

7 Al s 247 266 513 7 1 REHH7—Fz—HE RIRED

8 M BN 226 245 471 3 0 RKEHFm7—Fz)— BB

IE£Z &3 £ 70m | 70m | &EF | 10+X¥| X% FEEEXIIHEA SRR
®RC_70M (& F)60:% %

1 EH HPE 231 255 486 2 0 EMTHT7T—Fr)—HE FHiE R

2 5 ¥ 240 236 476 5 0 iﬁﬁ B7—Fzl)—ER EER
®RC_70M (& F)50/% 4%

1 AL BBF 301 310 611 13 4 +HEHT7—F)— FAR

2 REE IEF 291 287 578 8 3 NEFH7—F )= RIRED

3 K& E#F 270 262 532 10 3 KWET—FI)— TR

4 BEH & 258 267 525 2 1 ZEm7—F)—Hs RIRED

5 K 2753 252 234 486 2 2 FEEH T —F ') — N
®RC_70M (& F) 40i% 4%

1 tHE CiEES 302 287 589 8 2 ERET—F— =871}

2 HNH EE 296 291 587 13 4 RBET7—F)—1HE TR

3 uMA BE¥ 230 244 474 2 0 IAREBHRA= aINE

IE£Z &3 £ 50m | 50m | &&t | 10+X$¥| X% FEEEXIIHEA SRR
@CP_50M (B F)80m: %

1 HHE L 229 221 450 11 4 BEHT7T—F)—HE RIRED




QCP_50M(EF) 70t

1 xH 1% 335 332 667 30 8 ZREBE7—Fz—ER =RE
2 B Fi 320 324 644 23 6 ZRE7—F)—EH =RE
3 =EF 197 291 291 582 17 2 BEHT7—F—HE RIRED
4 k& B8 275 273 548 8 0 IWRB7—Fz)—H= T
5 FB ey i 272 264 536 9 4 o >7 R
©@CP_50M(FEF) 60t
1 Bk B 4t 338 339 677 40 16 HE TR ER IHEE
2 *tH HE 342 322 664 29 11 SMRIZEDHSEFIZIEFR BRE
3 fEiE fiaid 309 321 630 12 6 ZEm7—F)—Hs RIRED
4 BE —== 306 322 628 19 3 BiEEHRAS IR
5 &H = 312 314 626 16 9 BINH7—F)—HE FHiE R
6 ABh e 312 313 625 14 6 meg7—¥Fz)—937 BEE
7 NI = 321 301 622 16 3 —Em7—Fz)—Hs EHME
8 /N i’ 310 309 619 15 4 BHEM7—F)—Hs FAR
©@CP_50M(EF)50m% 1<
1 pir RiE 350 342 692 49 21 FRE# BEXtE LEE
2 =X i3 328 332 660 27 10 ZRE7—Fz)—EH =RE
3 HE iE 325 332 657 27 6 77y oMK e IIEE
4 Lt EE 335 318 653 28 7 X INEEHHE RS IR
5 H&E 3 322 324 646 22 6 meg7—Fz)—957 =R
6 EL &l 305 303 608 13 5 AXEBEHEASH FAR
©@CP_50M(FEF) 40t
1 ER EF] 344 334 678 39 13 IWBE7—Fz)—1H& T
2 &K 1% 323 334 657 27 5 (B)EBE I aR
IE L &3 £ 50m | 50m | &EFF | 10+X$| X# FEEEXIIHEA SRR




A0CP_50M (& F) 701t

1 BK SEF 305 295 600 13 2 o >7 R
d0CP_50M (ZF) 60i% X

1 (£ ER 306 306 612 10 1 BREMIV=Y/BERT7—F)- FHEEE

2 FB BE 307 292 599 16 4 o >7 RERRT
AOCP_50M (& F)50/% X

1 kB EEF 335 344 679 37 8 FER7—Fz)—HE FER
AOCP_50M (& F)40i% X

1 &R b7 333 330 663 28 XA IAZBEEE (FR) KHE

2 E+&E HE 298 298 596 10 FULH%E AR
IIE iz 3 % 60m | 60m | &E | 10+X% | X#K B EXIEtHh=4 SRR
A#01»&FRCBB_30M (5B F) 60i% K

1 de# RHE 263 289 552 12 2 KERFE7—Fz)—ER KB AT
M#)1>ERCBB_30M (B F) 40i% X

1 BE == 301 315 616 17 6 Bm7—F)—tHhs ez B2 I
#11»&FRCBB_30M (& F) 50i% X

1 KAR BF 305 308 613 14 2 BMR7—F)—Hhs RIRED
A#)1>ERCBB_30M (ZF) 405 X

1 Rl BF 243 284 527 4 1 HER7—F)—Hs RIRED
IE£Z &3 £ 60m | 60m | &EF | 10+X$ | X# FEEEXIIHEA SRR
(9RC_60M (FEF) 80m% X

1 B E:4:)7 240 202 442 5 2 EER7—Fx)—EH EER
(9RC_60M(FEF) 701X

1 BL% 1F fil 306 313 619 9 2 REF7—F)—ER R

2 BRE R= 267 295 562 13 5 BREB7—F)—057 RERRT

3 = BE 273 288 561 10 1 BR7—Fz)—HE RIRED

4 EHZh - 270 250 520 5 4 HEm7—F)—H= HiRE




(HYRC_60M (B F) 6055 1t

1 ME v =2 287 298 585 9 4 ETEMm7—Fz)—Hs RIRED

2 /ELW g 284 291 575 7 2 KERH7—Fz)—HE KB AT

3 Ral mE 276 293 569 7 1 BRB7—Fz)—057 R

4 k& H A 268 298 566 12 7 EER7—Fz)—ER EER

5 &Ei# BEE 277 271 548 6 3 BRB7—Fz)—057 R

6 Ik G 281 232 513 4 0 E27—Fz)—957 RERRT

7 EE & 244 267 511 6 1 a7 —F)—HmE HRE

8 [EH E= 252 251 503 7 1 E27—Fz)—957 RERRT
{RC_60M (B F)50m% X

1 WX FE 280 269 549 11 2 E27—F1)—957 RERFT
(RC_60M (B F) 401X

1 Hith NAN 320 331 651 22 6 BRB7—F)—957 RERRT

2 B EE 221 274 495 6 1 BRB7—F)—057 RN
IIE iz 3 % 60m | 60m | &E | 10+X% | X#K B EXIEtHh=4 SRR
(®RC_60M (& F)60m% X

1 b BF¥ 283 276 559 3 2 —Em7—Fz)—HmE EHE

2 /ME§ b 273 270 543 5 2 a7 —F)—HmE HRE
(ORC_60M (& F) 50:% X

1 &N HF 276 299 575 11 3 AERFE7—Fz)—&ER KB AT

2 K fEH 287 274 561 7 1 E27—F1)—957 RERFT

3 L# ¥ 274 259 533 6 1 FERT7—F—HE RIRED

4 RH B’ 240 258 498 6 2 BREB7—Fz)—057 RERRT
IE£Z &3 £ 50m | 50m | &EFF | 10+X$| X# FEEEXIIHEA SRR
@BB_50M (B F) 70t

1 b BB 270 278 548 11 2 BTRT7 —Fz)—H= BRI R

2 kE 8% 256 253 509 5 1 E7—Fz)—957 RERRT




()BB_50M (& F)_60i% 1t

1 EH B3 305 300 605 16 BERT7—FI)—WH=e HER

2 [ =X 273 274 547 9 BRB7—F')—H57 RERRT

3 HE 12 ER 243 253 496 4 BRB7—Fz)—057 R
{BB_50M (HEF) 50X

1 VA B 307 303 610 12 IRNR7—F—HE RIRED

2 R % 297 302 599 13 FEFH R AE EER

3 EJI R— 280 278 558 9 o >7 R
{BB_50M (B F) 40%1¢

1 Rk BEE 252 264 516 5 0 YT —Fz)—957 R

2 %M F— 232 219 451 3 1 BRB7—F)—957 RERRT

IE£Z &3 £ 50m | 50m | &&t | 10+X$¥| X% FEEEXIIHEA SRR
(®BB_50M (ZF) _70i% X

1 BH RF 262 283 545 8 2 EER7—Fz)—EH EER
(®BB_50M (ZF) 60i% X

1 BRE FIF 191 173 364 0 0 BRB7—F)—057 R
(®BB_50M (ZF) 50i% X

1 AR FEF 184 209 393 5 3 o >7 AT




